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Get 1z1-908 Products Practice Material for 1z1-908 Exam Question Preparation
[Q47-Q66

Get 1z1-908 Products Practice Material for 1z1-908 Exam Question Preparation
Most Reliable Oracle 1z1-908 Training Materials

Oracle 1z1-908 certification exam covers awide range of topics that include MySQL architecture, installation and configuration,
backup and recovery, security management, performance tuning, and high availability. 1z1-908 exam is designed to test the
candidate's ability to manage and administer MySQL databases efficiently and effectively. 1z1-908 exam consists of multiple-choice
questions and performance-based scenarios that test the candidate's practical skills.

NEW QUESTION 47
Y ou must run multiple instances of MySQL Server on a single host.
Which three methods are supported? (Choose three.)

* Run MySQL Server docker containers.
* Use systemd with different settings for each instance.
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* Use system toolsto lock each instance to its own CPU.

* Start mysqgld or mysgld_safe using different option files for each instance.
* Run mysgld with &#8211;datadir defined for each instance.

* Use resource groups to lock different instances on separate CPUSs.

NEW QUESTION 48

Which three sets of item information are visible in the mysgl system database? (Choose three.)
* help topics

* performance monitoring information

* plugins

* rollback segments

* information about table structures

* time zone information and definitions

* audit log events

NEW QUESTION 49
Y ou have configured MySQL Enterprise Monitor to monitor your MySQL server.

Which four features are available? (Choose four.)

* starting and stopping the MySQL instance

* tracing import and export with mysgidump

* deploying the MySQL agent on supported target operating system
* creating e-mail aerts and SNMP traps for MySQL warnings

* monitoring the availability of the MySQL instance

* analyzing executed MySQL queries

* monitoring of NDB Cluster APl nodes

NEW QUESTION 50

Examine this command and outpult:

mysgl> SELECT * FROM data_locks LIMIT 1\G

A AT R AR AR AT AR AR A A A A rrh W 1. row AR A AT R T AR AT AT AR A A AR AR e dd W
ENGINE: INNODB m
ENGINE LOCK ID: 1200:146 . n GO
ENGINE_TRANSACTION_ID: 1200 \\ BC’\'\O -

THREAD ID: 45 GO

EVENT :%
ydb

OB
Qg.‘% AME: mytablel
b\ ITION NAME: NULL

SUBPARTITION NAME: NULL
INDEX NAME: NULL
OBJECT INSTANCE BEGIN: 1187%3337250203
LOCK_TYPE: RECORD
LOCK MODE: X
LOCK STATUS: GRANTED
LOCK_DATA: 1922,1922

Which two statements are true? (Choose two.)
* Thelock is at the metadata object level.

Get 1z1-908 Products Practice Material for 1z1-908 Exam Question Preparation [ Q47-Q66]

| Page2/10 |


https://blog.topexamcollection.com/?p=1116
https://blog.topexamcollection.com/?p=1116

This page was exported from - Top Exam Collection
Export date: Tue Jan 21 10:57:04 2025/ +0000 GMT

* Thelock isashared lock.

* Thelock isan intentional lock.

* Thelock isat the table object level.
* Thelock isarow-level lock.

* Thelock isan exclusive lock.

NEW QUESTION 51

You have just installed MySQL on Oracle Linux and adjusted your /etc/my.cnf parameters to suit your installation.
Examine the outpuit:

# systemctl start mysqgld
Job for mysgld.service failed because the control process exited with error code. See "systemctl status mysgld.
"journalectl -xe" for details.

# systemctl status mysgld.service “ G

mysgld.service - MySQL Server \\@l
Loaded: loaded (/usr/llb/systemd/system/mysqld servic dor preset: disabled)
Active: failed (Result: exit-code) since Thu 201 m@-i 53 nCDT; 33s ago

Docs: man:mysgld(8)

http://dev.mysqgl.com/doc/refman/en/ 'ng‘ % .html
Process: 2732 ExecStart=/usr 2d" SMYSQLD OPTS (code=sxited, status=1/FAILURE)

Process: 2705 ExecStartPre=/ sgld _pre_systemd (code= exited, status=0/SUCCESS)
Main PID: 2732 (code=exited, status=1/FAILURE)
Status: "Server startup in progress”

Dec 12 07:54:4% oel? systemd[1l]: Starting MySQL Server..

Dec 12 07:54:53 oel? systemd[1l]: mysgld.service: main process exited, code=exited, status=1/FAILURE
Dec 12 07:54:53 oel? systemd[1l]: Failed to start MySQL Server.

Dec 12 07:54:53 oel? systemd([1l]: Unit mysgld.service entered failed state.

Dec 12 07:54:53 cel’ systemd[1l]: mysgld.service failed.

What statement is true about the start attempt?

* MySQL server was not started due to a problem while executing process 2732.

* MySQL server continued to start up even though another process existed.

* systemd found the mysgld service disabled and failed to start it.

* gystemd waited for 30 seconds before timing out and start up failed.

* gystemd attempted to start mysqgld, found another systemd mysgld process running, and shut it down.

NEW QUESTION 52

Which two statements are true about MySQL server multi-source replication? (Choose two.)
* |t isnot compatible with auto-positioning.

* |t needs to be re-instanced after a crash to maintain consistency.

* |t uses only time-based replication conflict resolution.

* Itreliesonrelay_log_recovery for resilient operations.

* |t does not attempt to detect or resolve replication conflicts.

* It must use GTID replication.

NEW QUESTION 53

Y ou have configured GT1D-based asynchronous replication with one master and one slave.
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A user accidentally updated some data on the slave.
To fix this, you stopped replication and successfully reverted the accidental changes. Examine the current GTID information:

Master uuid: aaaaaaaa-aaaa-aaaa-aaaa-aaaaaaaaaaaa
Master gtids executed: aaaaaaaa-aaaaégi?q1&@£Q-aaaaaaaaaaaa:1-10300
. e " B
Master gtids_ purged: aaaaag}ﬁtgﬁsﬁ aaa-aaaa-aaaaaaaaaaaa:1-3820
el

O

Slave uuid: tﬁOg}%bELbbbb-hbbh-bbbb-hbbh-bbbbbbbbhhbh

3lave gtids executed: aaaaaaaa-aaaa-aaaa-aaaa-aaaaaaaaaaaa:l-101€7,
bbbbbbbb-bbbb-bbbb-bbbb-bbbbbbbbbbbb:1-9

Slave gtids purged: aaaaaaaa-aaaa-aaaa-aaaa-aaaaaaaaaaaa:l-2312

You must fix GTID sets on the slave to avoid replicating unwanted transactions in case of failover. Which set of actions would allow
the slave to continue replicating without erroneous transactions?

* RESET MASTER;

SET GLOBAL gtid_purged—aasacsaa- asaa- asaa- asaa- asosacsaaaaa. 1- 10167,

* SET GLOBAL gtid_purged=aasaaasa- aaaa-asaa- acaa-asadaaasaaaa: 1-2312,bbbbbbbb- bbbb-bbbb-bbbb-bbbbbbbbbbbb: 1-9; SET
GLOBAL gtid_executed=aaaanaaa- acoa-aoaa- acoa-acccooasaaaa. 1- 10167,

* RESET SLAVE;

SET GLOBAL gtid_purged=aaaaaasa- aaaca- acoa- aca- adacoaacaaaa. 1- 3820,

SET GLOBAL gtid_executed—aaaaaaaa- asoa- adoa-aoaa- adaaaaaaaaaa. 1-10300;
* RESET MASTER;

SET GLOBAL gtid purged-asaaaaaa-acaa-aaaa- acoar saccoacoaasa: 1-2312;

SET GLOBAL gtid_executed—aaaaaaaa- asaa- acaa-aaaa- adsacasaaaaa: 1-10167,
* RESET SLAVE;

SET GLOBAL gtid_purged=sasacsaa- asaa- asaa- asaa- asasacaaaaaa. 1- 10167,
NEW QUESTION 54

Examine this query and output:
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mysqgl> EXPLAIN ANALYZE

SELECT city.CountryCode, country.Name AS Country Name,

city.Name, city.District, city.Population
FROM world.city CO

INNER JOIN world.country ON country.Code = city.Countr ‘0“

WHERE country.Continent = 'Asia’ d%_
AND city.Population > 1000000 0\ e

ORDER BY city.Population DESC\G C

e e ek e e e ok R ok o e ok e o 1 ro 0@@***********&***
EXPLAIN:

-> Sort: <temporary>. Q ESC (actual time=8.306..8.431 rows=125 loops=1)
-> Stream results Wactual time=0.145..8.033 rows=125 loops=1)
-> Nested loop inner join (cost=241.12 rows=205) (actual time=0.141..7.787 rows=125 loops=1)
-» Filter: (world.country.Continent = 'Asia') (cost=25.40 rows=34) (actual time=0.064..0.820 rows=51 loops=1)
-> Table scan on country (cost=25.40 rows=239) (actual time=0.05%..0.359 rows=239 loops=1)
-> Filter: (world.city.Population > 1000000) (cost=4.53 rows=6) (actual time=0.030..0.131 rows=2 loops=51)
-» Index lookup on city using CountryCode (CountryCode=world.country. 'Code') (cost=4.53 rows=18) (actual
time=0.023..0.096 rows=35 loops=51)

1 row in set (0.0094 sec)

Which two statements are true? (Choose two.)

* The country table is accessed as the first table, and then joined to the city table.

* |t takes more than 8 milliseconds to sort the rows.

* The optimizer estimates that 51 rows in the country table have Continent = & #8216;Asia& #8217;.
* 35 rows from the city table are included in the result.

* The query returns exactly 125 rows.

NEW QUESTION 55

Which condition is true about the use of the hash join algorithm?

* No index can be used for the join.

* The query must access no more than two tables.

* The smallest of thetablesin the join must fit in memory as set by join_buffer_size.
* At least one of the tables in the join must have a hash index.

NEW QUESTION 56

An attempt to recover an InnoDB Cluster fails.

Examine this set of messages and responses:

host3:3377 ssl JS > dba.rebootClusterFromCompl eteOutage()

Reconfiguring the default cluster from complete outage?

The instance ?host1:3377&#8217;? was part of the cluster configuration.

Would you liketo rgjoin it to the cluster? [y/N]: y

The instance ?host2:3377? was part of the cluster configuration.

Would you liketo rejoin it to the cluster? [y/N]: y
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Dba.rebootClusterFromCompl eteOutage: The active session instance isn?t the most updated in comparison with the ONLINE
instances of the Cluster?s metadata. Please use the most up to date instance: ?host1:337772. (RuntimeError) Which statement is true?
* The instance deployed on host3must be rebuilt with a backup from the primary instance.

* The cluster isrunning and thereis at least one ONLINEinstance.

* The instance deployed on host3must be synchronized from a donor deployed on host1lby using the command
cluster.addInstance(?host1:33777).

* |t is possible to determine the most up-to-date instance by comparing different global transaction identifier (GTID) setswith
GTID_SUBSET (set1,set2).

* The active session instance isinvalid and must be re-created by using the command shell.connect (?host3:33777).

NEW QUESTION 57

Examine the modified outpult:

mysgl> SHOW SITAVE STATUSAG

e R T e el ke ok e ke el e ke ke e ke e e el e e ke

Slave IC Running: Yes
Slave 3QL Running: Yes
Seconds Behind Master: 1612

Seconds Behind _Mastervalue is steadily growing.

What are two possible causes? (Choose two.)

* The master ismost probably too busy to transmit data and the slave needs to wait for more data.

* One or more large tables do not have primary keys.

* Thisvalue shows only 1/O latency and is not indicative of the size of the transaction queue.

* The master is producing alarge volume of eventsin parallel but the slave is processing them serially.
* The parallel dave threads are experiencing lock contention.

Explanation

NEW QUESTION 58

Which two storage engines provide aview of the data consistent with the storage system at any moment? (Choose two.)
* MylSAM

* NDB

* MEMORY

* ARCHIVE

* InnoDB

NEW QUESTION 59

Y ou reconfigure and start a slave that was not replicating for several days.

The configuration file and CHANGE MASTERcommand are correct.

Examine the GTID information from both master and slave:
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Master:

gtids executed: aasaaaaa-aaaa-aaaa-aaaa-aasaaaazaaa 1-321,
bbbbbbbb-bbbb-bbbb-bbbb-<bb bl +1-50,
cccccccc—cccc—c:cc\r\— docccocec:1234-1237

gtids_purged: aaaaa an—aaaa—aaaaaaaaaaaa :1=100,
bb-bbbb-bbbb-bbbbbbbbbbbb:1-10,
b\og _‘. CCCCC—CCCC-CCCC-CCCc—Cceccecccocccec:1234-1237
Slave:

gtids_executed: aaaaaaaa-aaaa-aaaa-aaaa-aaaaaaaaaaaa:l-160,
CCCCCCCC—CCCC—CECC—CCCC—Ccocccoccecec:1234-1237

gtids_purged: aaaaaasa-aaaa-aaaa-aaaa-aaaaaaaaaaaa:l-70,
CCCCcCCccc—-CCCC-CoCC—CCCC—CcCCocccocccec:1234-1237

Which statement is true?

* Replication will fail because the slave has purged more acaaacaa- aaaa- acaa- acda- adaacaaaaaaa transactions than the master.
* Replication will fail because the master does not have the required transaction with bbbbbbbb-bbbb-
bbbb-bbbb-bbbbbbbbbbbbGTIDs in its binary logs.

* Replication will fail because the master has already purged transactions with ccccecce-cece-cece- cece-cecceecececccGTIDs.
* Replication will fail because of inconsistent numbers in ccceeece-cece-cece-cece-cececceccece GTIDs.

* Replication will work.

Explanation/Reference: https://bugs.mysql.com/bug.php?d=86643

NEW QUESTION 60

Examine this command and outpult:

mysqgl> SHOW GLOBAL STATUS LIKE 'Firewall%';

o m e, = i &
| Variable name 0\\60“0 | value |
= \*
™ Tﬁga --------- $m————— +
| Fixewb‘@ga"gges_denied | 7 |
| Firewall access_granted | 4 I
| Firewall access_suspicious | 3 I
| Firewall cached_entries | 3% |

e —————

Which statement is true?

* Firewall _cached entriesisthe number of statements found in the query cache for usersin DETECTING mode.
* Firewall_access denied isthe number of connection attempts from prohibited hosts that are denied.

* Firewall_access suspiciousisthe number of statements logged as suspicious for usersin DETECTING mode.
* Firewall_access granted isthe number of connections granted from whitelisted hosts.

NEW QUESTION 61

Which two statements are true about InnoDB data-at-rest encryption? (Choose two.)
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* |t supports only non-blob datatypes.

* |t does not support the transportable tablespaces feature.
* |t supports al indexes transparently.

* |t decrypts datafor use in memory.

* |t enforces encryption from disk to memory and over network transmission.

NEW QUESTION 62

Examine this statement and output:

mysql> SELECT ROW NUMBER() OVER() AS QN,
query, exec_count, avg_latency, lock_latency

FROM sys.statement_ analysis On'co
ORDER BY exec_count; “—ec,'u
e e i | COME e ummmmm e o Gy b +
| N | query e'ﬁa | exec_count | avg_latency | lock_latency|
. 2 g:iap- --------------------------- R M fremsba i : RPN T 1
| 1 | SELECT SUM ( ‘k’ ) FROM 'mbE? {) - INTERVAL ? SQL TSI HOUR | 381268 | 31.44 ms | 1.0l m |
| 2 | SELECT ‘id’ ‘wval’ , ta’ ‘b ... ‘updated’ WHERE ‘created’ < ? | 150317 | 358.34 us | 30.06 = |
| 3 | SELECT ‘emp_no’ ‘val’ , ‘cre ... ated’ + INTERVAL ? SQL_TSI_DAY | 600 | 523.32 ms | 120.24 ms |
| 4 | SELECT ‘a’ ‘b* , ‘¢’ FROM 'm ... ? AND ? OR ‘k’ BETWEEN ? AND ? | 200| 10.32 s | 40.19 ms |
| 5 | SELECT ‘a’ b’ FROM ‘myschem ... G { ‘emp_no’ ) WHERE ‘val’ = ? | 1| 21.03 s | 274.00 us |
e B T pmmmmmmmmm e e prmmmmm e -

Y ou must try to reduce query execution time.

Which two queries should you focus on? (Choose two.)

* ON=3
* ON=5
* ON=1
* QN =4
* QN =2

NEW QUESTION 63

Y ou reconfigure and start a slave that was not replicating for severa days.

The configuration file and CHANGE MASTER command are correct. Examine the GTID information from both master and slave:

Master:
gtids _executed:

dddddddd-dddd-dddd—dddd—dddddddaadad

bbbbbbbb-bbbb-bbbb-bbbb-bk bl

gtids_purged:

\D\Og ;

Slave:
gtids_executed:

CCCCCCCC-‘CCCC—CC\T

aaaaa Q :
bb-bbbb-bbbb-bbbbbbbbbbbb :
t CCCEC~CECC—CCCC—CCCC~-CoCeCateecec:

dcococe

d-dddd-dddddddddddd

dddddddd-dddd-dddd-dddd—ddddaddadaaaac

CCCcccccc—Ccccc—Ccccc—Ccccc—coccececececeocccee

gtids_purged:

dddaasaa—adaa-4a494a-aaaa—aaadaasaaaaaac
cccccocceceoc—cccc—cccc—cccc—ccoccccecceccccee:

1-321,
:1-50,
:1234-1237

1-100,
1-10,
1234-1237

1-160,
:1234-1237

l_?or
1234-1237
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Which statement is true?

* Replication will fail because the slave has purged more asasacaa- acaa- acaa- acaa- acsasacaaaaa transactions than the master.

* Replication will fail because the master does not have the reguired transaction with bbbbbbbb-bbbb- bbbb-bbbb-bbbbbbbbbbbb
GTIDsinitsbinary logs.

* Replication will fail because the master has already purged transactions with cccecece-cecce-cece- ceee-ceceeceeccee GTIDs.

* Replication will fail because of inconsistent numbers in ccceecce-cecce-ceee-cece-cececececceee GTIDs.

* Replication will work.

NEW QUESTION 64
Y ou want to check the values of the sort_buffer_sizesession variables of al existing connections.

Which performance_schematable can you query?

* user_variables by thread

* global_variables

* variables by thread

* session_variables

Explanation/Reference: https://dev.mysgl.com/worklog/task/?d=6629

NEW QUESTION 65

Examine this statement and output:

mysgl> SELECT ROW _NUMBER() OVER() A3 {N,
query, exec_count, avg latency, lock latency

FROM sys.statement analysis : AN cO

ORDER BY exec_count; “ec,’ﬁo :
T e e .o LU =k frmmmmmm e e een frmmm e em 1
| gN | guery eﬁa | exec_count | avg_latency | lock_latencyl
T A g—'&op ---------------------------- TR o e TS~ 4
| 1 | SELECT SUM ( ‘k" ) FROM 'mh Q T« () - INTERVAL ? SQL_TSI_HOUR | 381268 | 31.44 ms ] 1.0l m |
| 2 | SELECT ‘id" , ‘val’” , "a’ , 'b ... ‘updated’ WHERE ‘created’ < ? | 150317 | 358.34 us | 30.06 s ]
| 3 | SELECT ‘emp no’ , ‘val’ , ‘cre ... ated’ + INTERVAL ? 8QL_TSI_DAY | 600 523.32 ms | 120.24 ms ]
| 4 | SELECT s’ , "B’ , ‘¢’ FROM 'm ... 7 AND ? OR ‘X’ BETWEEN ? AND 7 | 2000 10.32 » | 40.1% ms I
| S | SELECT ‘a’ , ‘b’ FROM ‘myschem ... G ( ‘emp no’ ) WHERE ‘val’ = 7 | 1] 21.03 » | 274.00 us I
T frmmmmm e e frmmm e 4

Y ou must try to reduce query execution time.

Which two queries should you focus on? (Choose two.)

* ON=3
* ON=5
* ON=1
* ON=4
* QN =2

NEW QUESTION 66

Examine these statements, which execute successfully:

CREATE ROLE r_world_rd;
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GRANT SELECT ON world.* TO r_world_rd;
CREATE USER john IDENTIFIED BY &#8216;P@ssw0rd& #8217;;
GRANT r_world_rd TO john;

Examine these statementsissued by user John:

mysgl> SHOW GRANTS;

| Grants for john@% |

o e ———————— O“ec{\ﬂn
| GRANT USAGE ON *.* TC ‘jchn'@’ &Y\ﬁfﬁ‘c
2

| GRANT ‘r_world_rd*@’%'_biagfeﬁ

S e e SEN S
2 rows in set (0.01 sec)

mysqgl> SELECT * FROM werld.city:
ERROR 1142 (42000): SELECT command denied to user ‘jchn’@’localhost’ for table ‘city’

What is the reason for the error?

* The statement was blocked by MySQL Firewall.

* John has not activated the role.

* John needs to reconnect to the database.

* The DBA needsto execute FLUSH PRIVILEGES.

To become certified, candidates must pass a rigorous exam that covers awide range of topics related to MySQL database
administration. These topics include database design, security, performance tuning, backup and recovery, and high availability
solutions. Candidates must demonstrate a deep understanding of these concepts and be able to apply them in real-world scenarios.
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